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Aretestaurantownerw are restaurant owners

harmed ? No harmed ? YES
→ higher embrest. → fast food

,
inexpensive food .



owners of capital of the same firm (e stockholders)
workers of the corporation government as a
owners $ workers from input firms recipient of tax

consumers - if they are inelastic \ revenue or loss



Q1 . Demand for rutabagas : Q ? 2000 - loop

Supply for h i Q r - 100 +200 P

$21 unit tax on rutabagas . Who bears statutory
incidence ? Economic incidence ?
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Find original agbm P & Q :

2000 - loop = - too t 200 P

2100 = 300 P

p = f
-

find egbm Q : plug P = 7 into Q, or Qo !
2000 - 100 P = QD

sooo - 100 (7) = Q,

Qp '- 1300



Find the new demand curve
,
when P intercept decreases by 2

y -- Mxtbr
decreasing by 2

demand coign equivalent

P -e -Foo Q t so ← w/o tax

demand curve w/ tax
Pnew -

- Pol d - 2 = Q t20 - 2 = Tty Q t 18



Find new eqbm : Set new demand = original supply
D ! P i ÷ Qt 18
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Set them egad I soo - loop a - 100 t 20op

11900 = 3o op

p e 19/3



Incidence :

consumer burden : 2 - ( 7 - %)

producer burden : 7 -
'43

producer b t consumer b -

- tax

(t - %) t 2 - ft - %) = 2


